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HEnE | PR | B2V b2 N KE | <&t |’ ¢ o4 T4 FEEDE
_ I 2E-fig
Om 155 15.6 15.8 15.8 15.6 15.7] 203 A 45
2m 15.5 15.6 15.7 15.7 15.6 15.7 205 A48
5m 15.5 15.6 15.8 15.7 15.7 15.7 20.6 A4S
10m 15.7 15.7 159 159 15.8 20.8 A 50
B-1m 16.1 16.1 16.1 16.2 16.3 16.1 21.0 A48
®2 €45
gy | mMEEE011/13)
ENS | P& | B/oV F AE | &S EM % BIFTE MEEDE
g SE-HE
Om 32.6 328 328 329 328 328 320 0.8
2m 328 328 329 329 3249 328 32.1 07
5m 328 328 329 329 33. 328 32.1 08
10m 329 328 330 330 — 329 323 0.6
|_B-1m 33.0 33.1 33.1 332 33.2| 33.1 327 04
23 BERER (mg/) —
i BEHE®E01/13)
Amies | pemw | B/ov | xR xE | xetmp | REFS NEEOE
* RIFTEE aE—
E_HE
Om 8.3 8.5 84 84 88 B.4 7.0 14
2m 8.1 84 83 83 86 84 6.8 16
Sm 7.8 83 8.2 82 84 8.2 6.7 15
10m 1.7 8.1 8.0 80 8.0 6.4 1.6
B-1m 7.3 7.7 7.9 79 8.1 7.8| 6.2 1.8
X B/UV-xm- DFE)
4 s (m)
i I A FELDBIRT
12.8 18.2 17.8 17.5 9.9
WS 3.9 43 36 38 4.0
miE(11/13) 5.3 54 5.2 5.3 44
x£5 5202 (cells/ml)
;’;;L Le A 3SR 45F7LR | BES
| Om 0 0 0 3.200|
BRER | 2m 0 0 0 1.800|
| 5m 0 0 o 1.450]
| Om 0 0 0 2.400)
g5/ | 2m 0 0 0 2.300|
5m 0 0 0 2.200|
Om 0 0 0 2.500|
Fa 2m 0 0 0 2.6500|
5m 0 0 0 1.900|
Om [ 0 0 1.300|
xXB | 2m 0 0 0 2.800|
5m 0 0 0 2.800|
Om 0 0 0 2.100|
ASIEN | 2m 0 0 0 1,800
5m 0 0 0 450
| Om 0 0 0 1,100
#R 2m ol 0 0 150|
5m 0 0 [ 20|
TR = 5m 0 0 0 3.600]|



